
 

  

1451 STONERIDGE DRIVE1451 STONERIDGE DRIVE  
MIDDLETOWN, PA 17057MIDDLETOWN, PA 17057  

  
PHONE: 717PHONE: 717--546546--0056 0056   

  800  800--356356--54295429  
  
  

“BEST IN TENSION”“BEST IN TENSION”  



2  

WHAT WE DO!!! 
WE COIL:  ANY DIAMETER SPRING IN WIRE SIZES  
                 .125 THROUGH .625 
WE SUPPLY:  WINDING AND STATIONARY CONES,  
                      TORSION DRUMS 
WE ENGINEER:  SPRINGING FOR ANY TYPE AND SIZE                                                               
 DOOR.  GIVE US THE TOTAL WEIGHT OF DOOR  
        INCLUDING GLASS,  APPLIED HARDWARE, PAINT,  
 ETC.  GIVE US THE DOOR TYPE AND HEADROOM, AND 
 ANY SPECIAL CONDITIONS AND WE WILL SPRING IT 
 PROPERLY—AT NO COST TO YOU. 
WE SERVICE:  PENN CENTRAL SPRING OFFERS COMPLETE 
 SERVICE FOR SECTIONAL, ROLLING DOOR TORSION 
 AND EXTENSION SPRINGING, PARTS AND  
 ASSOCIATED ITEMS.  REPAIR AND REPLACEMENT 
 SPRING ORDERS ARE SHIPPED THE SAME DAY IF  
 RECEIVED BY 2:30 PM. 
DUPLEX SPRING UNITS:  WE SUPPLY “SPRINGS WITH-IN 
 SPRINGS”, ELIMINATING THE NEED FOR DOUBLE 
 SHAFTS 
WE MANUFACTURE AND REPAIR:  ROLLING STEEL  
 ASSEMBLIES, MOST WITH SAME DAY TURNAROUND!  
WE SMILE:  SELF EXPLANATORY 

 
 

 
 
 
 
 
 

WINNER OF PROFESSIONAL DOOR DEALER  
MAGAZINE BEST OF BUSINESS 2009. 

         #1 SPRING MANUFACUTURER 
      & 
   #2 CUSTOMER SERVICE! 

PHONE: 800-356-5429          PCS  FAX:  866-364-9930 



 

                   TABLE    OF  CONTENTS  

   

                               ANGLE PAGE             17  
                           By the piece or by the bundle   

                               CABLE & FITTINGS PAGE              14 
                           Reels, Thimbles, Clips, Sleeves   

                               COMMERCIAL OPERATORS PAGE             22 

                           Manaras Operators   

                               DRUMS PAGE           15 –16 

                           Regular Lift, High Lift, Vertical Lift   

                               EXTENSION PAGES          9 -12 

                           Springs, Clips, Sheaves everything you need   

                               FASTENERS PAGES         26-27 

                           Hex Washers, Nuts, Hooks, Screws, Clips   

                               HARDWARE PAGES          25 

               Brackets, Repair Blocks, Exhaust Ports, Locks, Handles   

                               HINGES & PULLEYS PAGE            13, 21 
                           11 or 14g hinges, 3”-5” pulleys   

                               LUBRICANT PAGE            24 

                          PCS 500 Penetrating & PCS 1000 Multi-Purpose   

                               ROLLERS, BEARINGS, & BUMPERS PAGES         18-20 

            Track Rollers, Bearing & Anchor Plates, Various Bumpers   

                               SHAFT, VERTICAL TRACK PAGES          17 

                           Solid, tubular, Raw Vertical Track   

                               TOOLS PAGES          25   

                      Swaggers, Cutters, Angle Shears, & replacements   

                               TORSION SPRING ENGINEERING PAGE        4-8 

                           Common Torsion Spring Ends & Fittings   

                               WEATHERSEAL /RETAINERS PAGES       22 

   PHONE: 800-356-5429          PCS  FAX:  866-364-9930 



4  

  1 19/32 1 3/4 2 2 1/4 2 5/8 2 25/32 3 3/8 3 1/2 3 3/4 5 1/4 5 1/2 5 7/8 6 7 5/8 

.125 .150 .164 .186 .207 .240 .248 .306 .316 .338 .469 .491 .524 .535 .677 

.135 .163 .178 .201 .225 .260 .269 .331 .343 .366 .508 .531 .567 .578 .732 

.142 0.171 0.187 0.211 0.236 0.273 0.282 .0347 0.359 0.384 0.532 0.557 0.594 0.606 0.767 

.148 0.180 0.197 0.223 .0248 0.287 0.297 .0365 0.378 0.404 0.559 0.585 0.624 .0637 0.805 

.156 0.191 0.208 0.235 0.263 0.304 0.314 0.385 0.399 0.426 0.590 0.617 0.658 0.672 0.849 

.162 0.199 0.216 0.245 0.273 0.315 0.326 0.400 0.414 0.443 0.612 0.641 0.683 0.697 0.881 

.170 0.214 0.233 0.263 0.293 0.339 0.350 0.429 0.445 0.475 0.657 0.687 0.733 0.748 0.945 

.177 0.219 0.238 0.269 0.300 0.346 0.358 0.439 0.455 0.485 0.671 0.702 0.748 0.763 0.964 

.187 0.233 0.254 0.286 0.319 0.368 0.381 0.466 0.483 .0516 0.712 0.745 0.794 0.810 1.023 

.192 0.239 0.260 0.294 0.327 0.378 0.390 0.478 0.495 0.529 0.729 0.763 0.813 0.830 1.048 

.207 0.260 0.283 0.319 0.355 0.409 0.423 0.518 0.536 0.572 0.789 0.825 0.879 0.897 1.132 

.2187 .0277 0.301 0.339 0.377 0.434 0.449 0.549 0.568 0.606 0.835 0.874 0.931 0.949 1.198 

.225 0.286 0.311 0.350 0.389 0.449 0.463 0.567 0.586 0.626 0.862 0.901 0.959 0.979 1.235 

.234 0.299 0.325 0.366 0.407 0.468 0.483 0.591 0.611 0.652 0.898 0.939 1.000 1.021 1.287 

.243 0.313 0.339 0.382 0.424 0.488 0.504 0.616 0.637 0.679 0.935 0.977 1.041 1.063 1.340 

.250 0.322 .0349 .0393 0.436 0.502 0.518 0.633 0.655 0.698 0.960 1.004 1.069 1.091 1.375 

.262 0.340 0.369 0.415 0.461 0.529 0.547 0.667 0.690 0.736 1.011 1.056 1.125 1.148 1.446 

.273 0.357 0.387 0.435 0.483 0.555 0.573 0.698 0.722 0.770 1.057 1.105 1.177 1.201 1.512 

.283 0.371 0.402 0.451 0.501 0.575 0.593 0.723 0.748 0.797 1.093 1.143 1.217 1.242 1.563 

.289 0.381 0.412 0.463 0.513 0.589 0.608 0.741 0.766 0.817 1.120 1.171 1.246 1.272 1.600 

.295 0.394 0.427 0.479 0.531 0.609 0.629 0.766 0.792 0.844 1.157 1.209 1.287 1.313 1.652 

.306 0.407 0.440 0.494 0.547 0.628 0.648 0.788 .0815 0.868 1.189 1.243 1.323 1.350 1.698 

.312 0.416 0.450 0.5047 0.559 0.641 0.662 0.805 0.832 0.887 1.214 1.269 1.350 1.378 1.732 

.319 0.423 0.458 0.513 0.569 0.651 0.672 0.817 0.845 0.900 1.232 1.286 1.371 1.398 1.758 

.331 0.445 0.481 0.539 0.597 0.683 0.705 0.857 0.885 0.943 1.290 1.348 1.434 1.463 1.849 

.343 0.465 0.503 0.563 0.623 0.713 0.735 0.893 0.923 0.983 1.343 1.403 1.493 1.523 1.913 

.362  0.495 0.535 0.598 0.51 0.756 0.780 0.946 0.978 1.041 1.421 1.484 1.579 1.611 2.022 

.375 0.516 0.557 0.622 0.687 0.786 0.810 0.982 1.015 1.080 1.473 1.539 1.637 1.669 2.095 

.393 0.547 0.590 0.658 0.727 0.830 0.856 1.036 1.071 1.139 1.552 1.621 1.724 1.758 2.205 

.406 0.567 0.612 0.683 0.754 0.860 0.887 1..073 1.108 1.179 1.605 1.676 1.782 1.818 2.279 

.421 0.594 0.640 0.714 0.787 0.898 0.925 1.119 1.156 1.229 1.671 1.745 1.855 1.892 2.371 

.438 0.621 0.668 0.745 0.821 0.934 0.964 1.165 1.203 1.279 1.737 1.814 1.928 1.967 2.463 

.453 0.648 0.697 0.776 0.855 0.974 1.004 1.211 1.251 1.330 1.805 1.884 2.002 2.042 2.556 

.468 0.675 0.726 0.808 0.890 1.013 1.044 1.258 1.299 1.381 1.872 1.954 2.077 2.118 2.650 

.500 0.731 0.786 0.873 0.960 1.091 1.124 1.353 1.397 1.484 2.008 2.095 2.226 2.269 2.837 

.531 0.788 0.846 0.939 1.032 1.171 1.206 1.449 1.496 1.588 2.145 2.238 2.377 2.423 3.026 

.562 0.847 0.908 1.007 1.105 1.252 1.289 1.547 1.596 1.694 2.283 2.381 2.529 2.578 3.216 

LOCATE WIRE SIZE; LOCATE I.D.;  MULTIPLY THE CORRESPONDING NUMBER 
BY THE LENGTH OF THE EXISTING SPRING TO FIND THE TOTAL WEIGHT 



 

    WIRE DIAMETER  COLOR 
 
 .192    ORANGE 
 .207    YELLOW     
         .218    WHITE                  
        .225    RED                               
         .234    BROWN                 
         .243    GREEN 
 .250    GOLD  
         .262    DARK BLUE            
 .273    ORANGE 
 .283    LIGHT BLUE   
 .289    YELLOW   
 .295    WHITE  
 .306    BROWN  
 .312    TAN   
 .319    GREEN  
 .331    GOLD  
 .343    DARK BLUE  
 .362    ORANGE   
 .375    LIGHT BLUE  
 .393    YELLOW   
 .406    WHITE  
 .421    RED    
 .430    BROWN   
 .437               TAN  
 .453    GREEN   
 .461    GOLD  
 .468    DARK BLUE  
 .490    LIGHT BLUE   
 .500    YELLOW   
 .531    WHITE  
 .562    RED 

TORSION SPRING COLOR CODES  

PHONE: 800-356-5429          PCS FAX:  866-364-9930 

  LEFT WOUND    RIGHT WOUND 



6  

TORSION SPRINGS  

OIL TEMPERED, COATED TORSION SPRINGS: 

 -CORROSION RESISTANT 

 -CLEAN INSTALLATION 

 -COLOR CODED 
  
 

CUSTOM MADE TORSION SPRINGS: 
 

ORDER WEIGHT  NET PRICE   SHIPPING 
 
UNDER 100 #   $    SAME DAY 

100# +   $    SAME DAY 
250# +   $    SAME DAY 
500# +   $    SAME DAY 
1000# +   $    SAME DAY (PLACED BY 12:00PM) 

2000# +   $    SAME DAY (PLACED BY 12:00PM) 
5000# +   $    1-2 DAY 
10,000# +   CALL FOR QUOTE  3-4 DAY 

 
 

SPECIAL ENDS—LABOR: 
TYPE                      NET PRICE/ SPRING 

 
FITTINGS INSTALLED(1 3/4” , 2” ,2 1/4”, 2 5/8”)            ADD $ 
FITTINGS INSTALLED (3 3/8” +)                                   ADD % 
O.H. ENDS UP                   $ 

MCKEE ENDS IN               $ 
ROLLING STEEL TAILS              $ 
KINNEAR ENDS               $ 

BARCOL ENDS      $ 
MINI STORAGE    CALL FOR PRICING 
DOCK LEVELER SPRING   CALL FOR PRICING 

CRAWFORD     CALL FOR PRICING 
 
UPS SHIPPING:  FOB ORIGIN, FREIGHT PREPAID AND ADD 
LTL SHIPPING:   FOB ORIGIN, FREIGHT COLLECT UNLESS OTHERWISE STATED.                    
PLEASE INSPECT ANY AND ALL SHIPMENTS IMMEDIATLEY, BEFORE SIGNING FOR SHIPMENT.     
ANY AND ALL DAMAGE/LOSS MUST BE DOCUMENTED IMMEDIATELY WITH DRIVER. 

PHONE: 800-356-5429          PCS  FAX:  866-364-9930 



 

SPRING FITTINGS 
DESCRIPTION UNIT 

 
1 3/4”   UNIVERSAL    2 PIECE SET 

 
SET 

 
2”        UNIVERSAL     2 PIECE SET 

 
SET 

 
2 1/4”    RAYNOR       2 PIECE SET 

 
SET 

 
2 5/8”   UNIVERSAL   2 PIECE SET 

 
SET 

 
3 3/8”   O.H. DOOR   2 PIECE SET 

 
SET 

 
3 1/2”   RAYNOR       2 PIECE SET 

 
SET 

3 3/4”  UNIVERSAL ALUMINUM   
                               2 PIECE SET SET 

3 3/4”  CAST            2 PIECE SET SET 

 
5 1/4”   UNIVERSAL  2 PIECE SET 

 
SET 

 
5 1/2”   RAYNOR      2 PIECE SET 

 
SET 

6”  ALUMINUM         2 PIECE SET  SET 

 
6”  CAST                 2 PIECE SET 

 
SET 

 
7 5/8”   O.H. DOOR  2 PIECE SET 

 
SET 

PRICE/EA 
      1+ $ 
    50+ $ 
    CTN $ 

      1+ $ 
    50+ $  
    CTN $ 

 
$ 

  1+ $ 
50+ $ 
CTN $ 

 
1+  $ 

 
1 +  $ 

1 + $ 
10+ $ 
25+ $ 

$ 

 
$ 

 
$ 

  1+ $ 
10+ $ 

 
1+  $ 

 
$ 

PHONE: 800-356-5429      PCS        FAX:  866-364-9930 



8  

DESCRIPTION COLOR 1+ 10+ 25+ 50+ 100+ 

.207  X  1 3/4  X  120” YELLOW      

.218  X  1 3/4  X  120” WHITE      

.225  X  1 3/4  X  120” RED      

.234  X  1 3/4  X  120” BROWN      

.243  X  1 3/4  X  120” GREEN      

.250  X  1 3/4  X  120” GOLD      

.262  X  1 3/4  X  120” BLUE      

.273  X  1 3/4  X  120” ORANGE      

       

.207  X  2  X  120” YELLOW      

.218  X  2  X  120” WHITE      

.225  X  2  X  120” RED      

.234  X  2  X  120” BROWN      

.243  X  2  X  120” GREEN      

.250  X  2  X  120” GOLD      

.262  X  2  X  120” BLUE      

.273  X  2  X  120’ ORANGE      

1 3/4” COATED  

120” STOCK LENGTH TORSION SPRINGS 
  *MIX AND MATCH FOR BEST QUANTITY DISCOUNTS 
  *COATED AND COLOR CODED 

2” COATED  

STOCK LENGTHS AVAILABLE IN ALL I.D. SIZES. 
CALL FOR PRICING 

PHONE: 800-356-5429          PCS  FAX:  866-364-9930 



 

# PULL DESCRIP-
TION 

ENDS 

50#              RED DL 

60#              BROWN DL 

70#                 ORANGE DL 

80#                 GOLD DL 

90#              LT BLUE DL 

100#            TAN DL 

110#            WHITE DL 

120#            GREEN DL 

130#            YELLOW DL 

140#            BLUE DL 

150#            RED DL 

160#            BROWN DL 

170#            ORANGE DL 

180#            GOLD DL 

190#            LT BLUE DL 

200#            TAN  C 

220#            GREEN C 

230#            YELLOW C 

240#            BLUE C 

250#            RED C 

260#            BROWN C 

270#            ORANGE C 

280#            GOLD C 

290#            LT BLUE C 

300#            TAN C 

310#            WHITE C 

320#            GREEN C 

330#            YELLOW C 

340#            BLUE C 

ALL SPRINGS RATED FOR   
MINIMUM 10,000 CYCLE 
 
ALL SPRINGS COATED BLACK 
 
DESCRIPTION COLORS 
MATCH DASMA COLOR CODE 
 
MIX AND  MATCH  100+  OF 
ANY    7’ + 8’ FOR QUANTITY 
PRICING 
 
ADD PER SPRING FOR CLIPS 
ON 190# AND LESS 

EXTENSION ENDS 
 
DOUBLE LOOP:  STANDARD 
ON 190# AND UNDER. 
 
CLIPS:  STANDARD ON 200 # 
AND ABOVE 
 
OPEN LOOPS:  AVAILABLE 

SIZES 
7’ (25-42) (32-42) 

7’6”  (27-45) 

8’ (29-48)(27-48)(32-48) 

9’   (39-54) 

10’ (44-60) 

11’ (48-66) 

12’ (53-72) 

13’ (57-78) 

14’ (61-84) 

PHONE: 800-356-5429          PCS FAX:  866-364-9930 

EXTENSION SPRINGS 



10  

WT# COLOR ENDS 1+ 10+ 25+ 50+ 100+ 

40# BLUE DL      

50# RED DL      

60# BROWN DL      

70# ORANGE DL      

80# GOLD DL      

90# LT BLUE DL      

100# TAN DL      

110# WHITE DL      

120# GREEN DL      

130# YELLOW DL      

140# BLUE DL      

150# RED DL      

160# BROWN DL      

170# ORANGE DL      

180# GOLD DL      

190# LT BLUE DL      

200# TAN DL      

210# WHITE CL      

220# GREEN CL      

        

70# ORANGE DL      

80# GOLD DL      

90# LT BLUE DL      

100# TAN DL      

110# WHITE DL      

120# GREEN DL      

130# YELLOW DL      

140# BLUE DL      

150# RED DL      

160# BROWN DL      

170# ORANGE DL      

180# GOLD DL      

190# LT BLUE DL      

200# TAN DL      

210# WHITE CL      

220# GREEN CL      

7’ HIGH  (25-42) MIX AND MATCH FROM THIS PAGE FOR BEST $ 

8’ HIGH  (27-48)    MIX AND MATCH FROM THIS PAGE FOR BEST $ 

PHONE: 800-356-5429          PCS  FAX:  866-364-9930 



 

 (7’) 25”  X  42” (7’) 32”  X  42” (7’6”)27”  X  45” (8’) 27”  X  48” (8’) 29”  X  48” 

50#      

60#      

70$      

80#      

90#      

100#      

110#      

120#      

130#      

140#      

150#      

160#      

170#      

180#      

190#      

200#      

210#      

220#      

230#      

240#      

250#      

260#      

270#      

280#      

290#      

300#      

310#      

320#      

340#      

360#      

380#      

400#      

7’ - 8’ HIGH 

PHONE: 800-356-5429          PCS  FAX:  866-364-9930 



12  

 8’ 
32”  X  48” 

9’ 
39”  X  54” 

10’ 
44”  X  60” 

11’ 
48” X 66” 

12’ 
53”  X  78” 

50#      

60#      

70$      

80#      

90#      

100#      

110#      

120#      

130#      

140#      

150#      

160#      

170#      

180#      

190#      

200#      

210#      

220#      

230#      

240#      

250#      

260#      

270#      

280#      

290#      

300#      

310#      

320#      

340#      

360#      

380#      

400#      

13’ 
57”  X  78” 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

14’ 
60”  X  84” 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

9’ - 14’  HIGH 

PHONE: 800-356-5429          PCS  FAX:  866-364-9930 



 

EXTENSION HARDWARE 
DESCRIPTION                                                

3” STUD SHEAVE 
  3/8” BORE-FASTENERS SOLD SEPARATELY 
  RATING: 100LBS @10,000 CYCLES                                       

3” CLEVIS SHEAVE 
  INCL. 3/8-16 X 1 1/4” BOLT,NUT + FORK 
  RATING:  100LBS @ 10,000 CYCLES 

3” FORK 
  ATTACH W/ 3/8-16 X 1 1/4” BOLT,NUT 
  FASTENERS SOLD SEPARATELY 

3” HEAVY DUTY STUD 
  3/8” BORE-FASTENERS SOLD SEPARATELY 
   RATING: 200LBS @10,000 CYCLES 

3” HEAVY DUTY CLEVIS 
  INCL. 3/8-16 X 1 1/4” BOLT,NUT + FORK 
  RATING:  200LBS @ 10,000 CYCLES 

4” STUD SHEAVE  
  3/8” BORE-FASTENERS SOLD SEPARATELY 
   RATING: 200LBS @ 35,000 CYCLE  

4” CLEVIS SHEAVE  
  INCL. 3/8-16 X 1 3/4” BOLT/NUT + FORK 
   RATING: 200LBS @ 35,000 CYCLE  

4” FORK 
  ATTACH W. 3/8-16 X 1 3/4” NUT/BOLT 
   FASTENERS SOLD SEPARATELY 

4” STUD-PRESSED SHEAVE 
  FIXED STUD 
   RATING: 200 LBS @ 35,000 CYCLES 

5” STUD SHEAVE 
  FIXED STUD 
   RATING:  1000 LBS @ 100,000 CYCLES 

5” CLEVIS SHEAVE 
  FIXED STUD 
   RATING;  1000 LBS @ 100,000 CYCLES 

    QTY/NET 

  10 +   $. 
  25 +   $. 
100 +   $. 

10 +  $ 
 25 +    $. 

 100 +    $. 

 10 +  $ . 
 25 +  $ . 
100 +  $ . 

  10 +  $. 
  25 +  $. 
100  +  $. 

  10 +  $ 
  25 +  $ 
100 +   $ 

  10 +  $ 
  25 +  $ 
100 +  $ 

  10 +  $ 
  25 +  $ 
100 +  $ 

  10 +  $. 
  25 +  $. 
100 +  $. 

  10 +  $ 
  25 +  $ 
 100 + $ 

    1 +  $ 
  25 +  $ 
 100 +  $ 

    1 +  $ 
   25 +  $ 
 100 +  $ 

EXTENSION HARDWARE 
DESCRIPTION                                                  10+                     100+  
SMALL EXT SPRING CLIP     
(FOR UP TO 1-1/2” ID) 
 
MED EXT SPRING CLIP           
(FOR UP TO 1-1/2” TO 2-1/2” ID) 
 
LARGE EXT SRING CLIP     
 
WIDE EXT CLIP W/ HOLE     
 
TANDEM HOOK UP / YOKE PLATE    

PHONE: 800-356-5429     PCS      FAX:  866-364-9930 



14  

CABLE THIMBLES (100 PCS PER BAG) 

ALUMINUM OVAL SLEEVES (100 PCS PER BAG) 

ALUMINUM ROUND STOPS (100 PCS PER BAG) 

WIRE ROPE CLIPS (100 PCS PER BAG) 

PHONE: 800-356-5429     PCS        FAX:  866-364-9930 

CABLE ACCESSORIES (100 PCS PER BAG) 

GALVANIZED AIRCRAFT CABLE REELS (500 FT) 

CABLE AND CABLE FITTINGS 

DESCRIPTION                                   1+             6+           10+ 
3/32” - 7 X 7  SAFETY CABLE   
1/8”   - 7 X 19      
5/32” - 7 X 19     
3/16” - 7 X 19     

DESCRIPTION                                   1+             6+           10+ 
3/32” - 1/8”     
5/32”       
3/16”        

DESCRIPTION                                   1+             6+           10+ 
CABLE ADJUSTMENT CLIP   
CC-1 CLIP      

DESCRIPTION                                   1+             6+           10+ 
1/8” SLEEVES     
5/32” SLEEVES     
3/16” SLEEVES       

DESCRIPTION                                   1+             6+           10+ 
1/8” STOPS      
5/32” STOPS     
3/16” STOPS     

DESCRIPTION                                   1+             6+           10+ 
1/8” ROPE CLIP     
3/16” ROPE CLIP     
1/4” ROPE CLIP     

ALUMINUM CABLE SPOOL (100 PCS PER BAG) 
5/8” OD / 5/16” ID / 5/16” THICK   
FITS BTM BRACKET –DRILLED PIN 



 

Cable Drums 
OMI—8’          MAXIMUM DOOR HEIGHT—8’1”      1+      
• RATED LIFTING WEIGHT PER DRUM—265 LBS    25+      
• MAX. CABLE DIAMETER—1/8” 
• USE ON 1” TUBE OR SOLID SHAFT 
• 3/8” - 16 X 1” HARDENDED CUP POINT SET SCREWS INSTALLED 
• COLOR CODED (RED-LEFT) (BLACK-RIGHT) 

OMI—12’         MAXIMUM  DOOR HEIGHT—12’1”      1+        
• RATED LIFTING WEIGHT PER DRUM—375 LBS           25+       
• MAX CABLE DIAMETER—5/32” 
• USE ON 1” KEYED SOLID SHAFT W/ 1/4” KEYWAY OR TUBULAR SHAFT 
• 3/8” - 16 X 1 HARDENED CUP POINT SET SCRWS INSTALLED  
• COLOR CODED ( RED-LEFT) (BLACK-RIGHT) 

OMI—18’        MAXIMIM  DOOR HEIGHT—18’1”     1+        
• RATED LIFTING WEIGHT PER DRUM—750 LBS           25+       
• MAX CABLE DIAMETER—3/16” 
• USE ON 1” SOLID SHAFT WITH 1/4” KEYWAY 
• 3/8” - 16 X 1” HARDENED CUP POINT SET SCREWS  INSTALLED 
• COLOR CODED ( RED-LEFT) (BLACK-RIGHT) 

OMI—32’           MAXIMUM DOOR HEIGHT—32’1”    1+       
• RATED LIFTING WEIGHT PER DRUM—1000 LBS         25+    
• MAX CABLE DIAMETER—1/4”                  AVAILABLE IN 1 1/4” BORE 
• USE ON 1” OR 1 1/4” SOLID SHAFT WITH 1/4” KEYWAY 
• 3/8” - 16 X 1” HARDENED CUP POINT SET SCRWS INSTALLED  
• COLOR CODED (RED-LEFT) ( BLACK-RIGHT) 

PHONE: 800-356-5429          PCS  FAX:  866-364-9930 

OMI-11 VL       MAXIMUM  DOOR HEIGHT—11’1”    1+        
• RATED LIFTING WEIGHT PER DRUM—425 LBS          25+        
• MAX CABLE DIAMETER—3/16” 
• USE ON 1” SOLID SHAFT W/ 1/*4” KEYWAY 
• 3/8” -16 X 1” HARDENED CUP POINT SET SCREWS INSTALLED 
• COLOR CODED (RED-LEFT) (BLACK-RIGHT) 

OMI—18 VL      MAXIMUM  DOOR HEIGHT—18’1”   1+         
• RATED LIFTING WEIGHT PER DRUM—500 LBS           25+       
• MAX CABLE DIAMETER—3/16” 
• USE ON 1” SOLID SHAFT W/ 1/4” KEYWAY 
• 3/8—16 X 1” HARDENED CUP POINT SET SCREWS INSTALLED 
• COLOR CODED ( RED-LEFT) ( BLACK—RIGHT) 

OMI—28 VL     MAXIMUM DOOR HEIGHT—28’1”     1+       
• RATED LIFTING WEIGHT PER DRUM—500 LBS 
• MAX CABLE DIAMETER—3/16”                 AVAILABLE IN 1 1/4” BORE 
• USE ON 1” SOLID SHAFT W/ 1/4” KEYWAY  3/8—16 X 1” HARDENED CUP 

POINT SET SCREWS INSTALLED 
• COLOR CODED ( RED-LEFT) ( BLACK—RIGHT) 

S
T
A

N
D

A
R

D
 L

IF
T
 

V
E
R

T
IC

A
L
 L

IF
T
 



16  

Cable Drums 

OMI-164 HL MAX HIGH LIFT—164”       1+       
• MAX DOOR HEIGHT—229” + HIGH LIFT         10+      
• RATED LIFTING WEIGHT PER DRUM—1000 LBS 
• MAX CABLE DIAMETER—1/4”            AVAILABLE IN 1 1/4” BORE 
• USE ON 1” OR 1 1/4” SOLID SHAFT W/ 1/4” KEYWAY 
• 3/8” - 16 X 1” HARDENED CUP POINT SET SCREWS INSTALLED 
• COLOR CODED (RED-LEFT) (BLACK-RIGHT) 

OMI-120 HL MAX HIGH LIFT—120”       1+      
• MAX DOOR HEIGHT—144” + HIGH LIFT        25+      
• RATED LIFTING WEIGHT PER DRUM—500 LBS 
• MAX CABLE DIAMETER—3/16” 
• USE ON1” SOLID SHAFT W/ 1/4” KEYWAY 
• 3/8—16 X 1” HARDENED CUP POINT SET SCREWS INSTALLED 
• COLOR CODED (RED-LEFT) (BLACK-RIGHT) 

OMI-54 HL MAX HIGH LIFT - 54”         1+       
• MAX DOOR HEIGHT—180” + HIGH LIFT         25+       
• RATED LIFTING WEIGHT PER DRUM—500 LBS 
• MAX CABLE DIAMETER—3/16” 
• USE ON 1” TUBING OR SOLID SHAFT W/ 1/4” KEYWAY 
• 3/8—16 X 1” HARDENED CUP POINT SET SCREWS INSTALLED 
• COLOR CODED (RED-LEFT) (BLACK—RIGHT) 

OMI-54 HL-LD MAX HIGH LIFT—54”          1+       
• MAX DOOR HEIGHT—120” + HIGH LIFT          25+      
• RATED LIFTING WEIGHT PER DRUM—275 LBS 
• MAX CABLE DIAMETER—1/8” 
• USE ON 1” SOLID SHAFT W/ 1/4” KEYWAY, OR TUBULAR SHAFT 
• 3/8—16 X 1” HARDENED CUP POINT SET SCREWS INSTALLED 
• COLOR CODED ( RED-LEFT) (BLACK-RIGHT) 

PHONE: 800-356-5429          PCS  FAX:  866-364-9930 

H
I-

L
IF

T
 



 

PERFORATED ANGLE 
V

E
R

T
IC

A
L
 T

R
A

C
K

 /
 S

T
R

U
T
S

 /
S

H
A

F
T

 

13 G.— 1 1/4” X 1 1/4” - 10’           1-99PC        
                                                          100 PC +     
                                              BUNDLE (300PC)    

12 G.— 1 1/2” X 1 1/2” - 10’           1-99PC        
                                                          100 PC +     
                                              BUNDLE (200PC)    

12 G.—  2” X 2” - 10’                         1-99PC       
                                                           100PC +     
                                              BUNDLE (200PC)    

GRAY  PAINTED 
1 1/4” X 1 1/4” -8’6”          BUNDLE (320PC)    

WHITE PAINTED 
1 1/4”  X  1 1/4”- 8’6”        BUNDLE (320PC)    

2” RAW VERT TRACK  —                            1 +   
.083 G. GALVANIZED TRACK 20’                 10 +   

3” RAW VERT TRACK  —                           1 +   
11 G. GALVANIZED TRACK 19’                   10 +   

2 1/4” STRUTS —                               1 +                    10+ 
22 G. HEMMED                       9’        
                                            14’       
                                            16’       
                                            18’       

3” STRUTS —                                     1 +                    10+ 
20 G. HEMMED STRUT              20’       
                                                24’       

STRUT CLIPS                                             100+    

PHONE: 800-356-5429   PCS  FAX:  866-364-9930 

1” TUBULAR SHAFT 11 G.                         1  +   
STOCK LENGTHS AVAILABLE                       10 +   
— 10’8”, 12’8”, 14’8”, 16’8”, 18’8” 

1” SOLID TORSION SHAFT                             1 +   
WITH 1/4” X 1/4” KEYWAY. 24’                        10 +  
                                                        CUT TO LENGTH, CALL FOR PRICING 

1- 1/4” SOLID TORSION SHAFT                      1 +   
W/ 1/4” X 1/4” KEYWAY– 24’2”                                   10 +   
                                                        CUT TO LENGTH, CALL FOR PRICING 

KEY: 1/4” X 1/4” X 3” —                                    10+   
                                                                          50+   

1” SHAFT COUPLER ADJ.                   1 +            10  +              

1-1/4” SHAFT COUPLER ADJ.           1 +             10 +   

1” SHAFT COLLAR W/SET SCREWS                    10+   

1-1/4” SHAFT COLLAR W/ SET SCREWS           10 +   



18  

BOTTOM BRACKETS 
INSIDE BOTTOM CORNER BRACKETS 
DESCRIPTION                                1+         6+        10+ 
BB-100:  13 G. GALVANIZED      
 5 11/16” H X 1 11/16” 
 W/1 1/4” SIDE FLANGE. 
 
BB-90:    13G. GALVANIZED           
 
CBB-95-2:  13G. GALAVNIZED       
 9-3/16” H X 1-5/8” FOR 2” 
 
BB-6/2:  11G. FOR 2” TRACK.         
 10 7/8” H X 4 5/8”  
W/1 5/8” SIDE AND BOTTOM FLANGES.   
    
BB-6/3:  11G.  FOR 3” TRACK.        
SPECS SAME AS 2”.  
CLEVIS PIN INCLUDED  

OUTSIDE BOTTOM CORNER BRACKETS 
DESCRIPTION                               1+          6+        10+ 
BB-5  :  11G.                 
6 1/2” H X 3 1/4”  
 W. CLEVIS PIN INCLUDED       
 
BB-5R:  SAME AS BB-5                  
BUT WITH 12 G. AND  
REINFORCING STRAP.   
CLEVIS PIN INCLUDED  
        
BB-6/3”:  SAME AS BB-6/3”         
BUT DESIGNED FOR  
OUTSIDE HOOK UP   

PHONE: 800-356-5429          PCS FAX:  866-364-9930 

BOTTOM SAFETY BRACKETS 
DESCRIPTION                                        1+          10+ 
2” SAFETY BOTTOM BRACKET     
REDUCES RISK OF FALLING DOOR 
 IF CABLE FAILURE OCCURS 
MAX DOOR WEIGHT: 1300# 
MAX CABLE DIAMETER: 3/16” 
 
3” SAFETY BOTTOM BRACKET     
REDUCES RISK OF FALLING DOOR 
 IF CABLE FAILURE OCCURS 
MAX DOOR WEIGHT: 1650# 
MAX CABLE DIAMETER: 1/4” 



 

BEARINGS AND BEARING PLATES 

SA-3 -3/8”SPRING ANCHOR :        1+        25+       50+ 
11 G. 3 3/8”OFFSET WITH 1 5/8” LEG        
  
SA-4- 3/8” SPRING ANCHOR:     
11G. 4 3/8” OFFSET WITH 1 15/16” LEG  
  
CBS 3- 3/8” BEARING PLATE       
11G. 3-3/8 SHAFT OFFSET   
                                                               
CBS 4- 3/8” BEARING PLATE       
11G.  4-3/8” SHAFT OFFSET   
   
CBS 5” BEARING PLATE               
8G.  5” SHAFT OFFSET  
      
CBS-  6” BEARING PLATE            
8G. 6” SHAFT OFFSET     
 
 
USA 8 G.  ANCHOR PLATE:          
                                                      
   
MINI  UNIVERSAL PLATE:           
 
         
FEB   5 -1/8”(FLAT)           
 
      
FEB   6- 5/8”                          
 
     
FEB    8”            
 
   
EBF 3-3/8”  (FLANGED)                  
 
 
EBF 4-3/8”                                 
 
 
EBF 5”                                   
  
 
EBF  6”                                       

PHONE: 800-356-5429          PCS FAX:  866-364-9930 



20  

TRACK ROLLERS 
2” STEEL ROLLER (7/16)           10+             100+        200+ 
 
7 BALL SHORT (4”)      
 
10 BALL SHORT (4”)      
 
10 BALL LONG (7”)       
 
10 BALL EXTRA LONG (9”)     
 
3” STEEL ROLLER (7/16)           10+             100+        200+ 
 
10 BALL SHORT (4”)      
 
10 BALL LONG (7”)      
 
10 BALL EXTRA LONG (9”)        
 
2” NYLON   (7/16)                    10+             100+        200+ 
 
10 BALL SHORT (4”)      
 
10 BALL LONG (7”)      
   
3” NYLON   (7/16)                    10+             100+        200+ 
   
10 BALL LONG (7’) 

RESIDENTIAL—   1+          50+         100+ 
16G.  BRACKET WITH 14 G.         
ADJUSTABLE 3/8” TO 7/8”  
AND 1 7/8” TO 3 3/16”         
 
COMMERCIAL—                     
12 G.  BRACKET WITH 13 G.      
ADJUSTABLE 7/16” TO 1 13/16”  
AND 1 7/8” TO 3 7/8”    
 
LHR TOP FIXTURE                             
12 G.   2 1/2” W X 5 1/2” L.   

TOP ROLLER BRACKETS 

PHONE: 800-356-5429          PCS FAX:  866-364-9930 



 

HINGES 

JAMB BRACKETS 

PHONE: 800-356-5429       PCS         FAX:  866-364-9930 

14 GAUGE:                              10+             50+        100+ 
#1       
#2       
#3       
#4       
#5       
13 GAUGE:                              10+             50+        100+ 
#1         
#2        
#3       
#4       
#5       
11 GAUGE:                              10+             50+        100+ 
#6       
#7       
#8       
#9       
#10       
#11 
#12 
#13 

16 GAUGE AVAILABLE, CALL FOR PRICING 

BEARINGS & RETAINER 
DESCRIPTION    1+           25+       100+ 
1” STEEL BEARING                  
1-1/4” STEEL BEARING      
BEARING RETAINER                

12G. GALV. STEEL:               10+             50+         100+ 
 
J-1      
J-2      
J-3      
J-4      
J-5      
J-6      
J-7      
J-8      
J-9      
J-10      



22  

REVERSE ANGLE JAMB SEAL 
TOUGHEST PVC SEAL AVAILABLE, 
 2-100 FT ROLLS PER CARTON,  
2 COLORS:  WHITE, BLACK.  1+   

SECTIONAL DOOR TOP SEAL 
ELIMINATES DRAFTS AT THE HEADER,  
INSTALLS QUICKLY, SINGLE CONTACT 
 2-100 FT ROLLS PER CARTON        1+  

BOTTOM ASTRAGAL FOR  
WOOD DOORS       1+            5+  
200 FT / CARTON / BLACK 

SEALS 

PHONE: 800-356-5429          PCS FAX:  866-364-9930 

THRESHOLD 
BLOCKS WIND ,RAIN + DEBRIS 
100’/CT , 2 ADHESIVE TUBES           1+  

WEATHERSTOP  
2” SOLID / 1 3/8” FLAP 
SIZES: 7’ - 16’ 
COLORS: WHITE, SANDSTONE, ALMOND,  
BROWN, GREEN, GREY 
   1-9 CTS    10-24CT   25-39 CT    40+CT 
    

MANARAS COMMERCIAL OPERATORS 
 
 
 
 
 
 
WE DISTRIBUTE  THE FULL LINE OF MANARAS TROLLEY  
AND JACKSHAFT OPERATORS 
 
PLEASE VISIT  MANARAS.COM   FOR A COMPLETE  
 
PRODUCT LINE CATALOG. 
 
CALL PCS FOR PRICING  



 

DESCRIPTION   (EA)                          1+        5+        10+ 
2000 D-DIRECT DRIVE,    
SHAFT MOUNTED        
FOR USE ON 1” SOLID SHAFT,  
CAST IRON POCKET WHEEL,  
2 SHAFT COLLARS,  
MIN. 5 1/4” CENTER LINE OFFSET 
2000 R– 4:1 REDUCED DRIVE,   
WALL MOUNT  
41B36 SPROCKET, 1” BORE,  
36” OF #41 ROLLER CHAIN,  
JR SHAFT MOUNT-    
4:1 REDUCED DRIVE SHAFT MOUNT     
41B36 SPROCKET, 1” BORE,  
22” OF #41 ROLLER CHAIN, (2) SHAFT COLLARS,  
(1) WALL STABILIZER BRACKET, MIN 3 3/8” CENTER LINE OFFSET 

CHAIN HOIST 

EXHAUST PORTS 

PUSH DOWN BUMPER AND LEAF BUMPERS 

PHONE: 800-356-5429          PCS FAX:  866-364-9930 

DESCRIPTION   (PR)                          1+        5+        20+ 
PUSH DOWN BUMPER 15”:        
12G. BRACKET FOR 3/8” BOLTS.  
 APPROX. COMPRESSION: 10 #/IN. 
6” TRAVEL    
 
PUSH DOWN BUMPER 27”:        
12G. BRACKET FOR 3/8” BOLTS.  
 APPROX.COMPRESSION: 10 #/IN. 
12” TRAVEL 
 
LEAF BUMPER SPRINGS:            
OVERALL LENGTH 12 1/2” 

DESCRIPTION   (EA)                          1+        5+        20+ 
FOR 1/4” MAX THICKNESS 
FOR NON-INSULATED DOOR PANELS 
 3” EXHAUST PORT           
              3” - LATCHING TYPE        
         4” EXHAUST PORT                   
             4”-LATCHING TYPE         
FOR 2” MAX THICKNESS 
FOR INSULATED DOORS 
 3” EXHAUST PORT                  
      3” -LATCHING TYPE         
          4” EXHAUST PORT                   
      4” - LATCHING TYPE        



24  

DESCRIPTION   (CS)                                       QTY(CS)/ NET 
 
PC 500 PENETRATING LUBE:      
PROFESSIONAL GRADE FOR                     
USE ON ALL MOVING PARTS,     
NON-FLAMMABLE, PENETRATES    
 AND  LOOSENS FROZEN PARTS,  
PROTECTS AND QUIETS.  
1 CARTON = 12 CANS 15 OZ    
 
 
 
PC 1000 MULTI  PURPOSE LUBE:     
WHITE  LITHIUM GREASE IN AN     
EASY TO USE SPRAY.        
LUBRICATES AND REDUCES      
FRICTION, WILL NOT RUN OFF,  
WASH OFF, OR FREEZE AND  
DOES NOT GUM UP OR CAKE  
ONTO APPLIED SURFACES.   
1 CARTON = 12 CANS 15 OZ    

LUBRICANTS 

LOCKS AND HANDLES 

PHONE: 800-356-5429    PCS      FAX:  866-364-9930 

OPERATOR REINFORCED BRACKET 

DESCRIPTION   (EA)                                  1+            25+   
       
UNIVERSAL SLIDE LOCK     
FOR 2” AND 3” DOORS 
 

ORB—WHITE—21”    1+  
FITS 21” SECTIONS,     25+   
CLEVIS PIN, AND COTTER RING INCL. 
 
 
ORB-WHITE –24”    1+     
FITS 24” SECTIONS,     25+   
CLEVIS PIN, AND COTTER RING INCL. 



 

TOOLS 

RULER WIRE GAUGE        1+          10+ 
A “MUST HAVE” FOR EVERY PROFESSIONAL INSTALLER: 
ACCURATELY  MEASURES WIRE SIZE, ELIMINATING ANY 
GUESSWORK & INCORRECT ORDERS.  SIMPLY PLACE 
THE FORMED END OF THE GAUGE BETWEEN TWO COILS 
AND COUNT 10 OR 20 COILS. 

  GET THE WIRE SIZE RIGHT THE FIRST TIME, 

COUNTER-BALANCE SCALE ARMS

SPRING PRO GAUGE        1+         10+  
• DOUBLE SIDED BLADES ARE EASY TO READ 
• INCLUDES ALL WIRE SIZES FROM.1875” -.500” 
• COMPACT DESIGN INCLUDES NYLON BELT SHEATH 

FOR ON-THE-GO ACCURACY 

WIRE GAUGES 

PHONE: 800-356-5429          PCS FAX:  866-364-9930 

SWAGER:HSC—600          
HAND HELD CABLE SWAGER 
CUTTING AND SWAGING CABLE 1/16”- 3/16” 

CABLE CUTTERS:                           
FELCO C—7 CABLE CUTTER 
 UP TO 3/16” DIAMETER CABLE  
         WEIGHT 10 OZ. LENGTH 8” 

WORKS WITH STANDARD BATHROOM SCALE 
DETERMINES ACCURATE DOOR WEIGHT 
RELEASE SPRING TENSION, SCALE WEIGHT  
TIMES MULTIPLIER                          1+   
                                                       5+   

REUSABLE BLOCKS PROVIDE TEMPORARY  
REPAIR TO KEEP THE DOOR  WORKING  
WHILE A NEW SPRING IS MADE. 
SOLD IN PAIRS, SET SCREWS INCLUDED 
BLUE (.218 -.250)    
YELLOW (.263 YELLOW (.263 -- .312 .312))                                                                                                
RED (.331 - .375)             1+       10+ 

SPRING REPAIR BLOCKS 



26  

FASTENERS 

DESCRIPTION               QTY         1+                 5+ 

HEX WASHER LAG ( 7/16” )  

1/4” X 1 1/8”          100 PCS         

5/16” X 1 5/8”        100 PCS         

5/16” X 2 1/2”        100 PCS         

5/16” X 3”              100 PCS         

5/16  X  1 5/8         100 PCS         
DACROMET 

SELF-DRILL SCREWS 

1/4 — 14 X 3/4”      100 PCS         

1/4  X  14  X  1”      100 PCS         

1/4 — 20 X 1”         100 PCS         

5/16” — 12 X 1”      100 PCS         

FLAT  WASHER  

5/16”                     100 PCS         

3/8”                       100 PCS         

HEAVY  DUTY        100 PCS         
“S”  HOOK 

EYE  BOLT             100 PCS         
5/16” — 18 X 3 3/4” 

SLOTTED RIB TRACK BOLT 

1/4” — 20 X 5/8”    100 PCS         

1/4” — 20 X 1”       100 PCS         

1/4”                       100 PCS         

PHONE: 800-356-5429          PCS FAX:  866-364-9930 



 

DESCRIPTION               QTY            1+                 5+ 

HEX  BOLTS 

5/16” — 18 X 1”          100 PCS       

3/8” — 16 X 3/4”         100 PCS       

3/8” — 16 X 1”            100 PCS       

3/8”  —  16  X  1 1/4”  100 PCS       

3/8” — 16 X 1 1/2”      100 PCS       

 HEX  NUTS                 

1/4” — 20                   100 PCS       

 5/16” — 18                100 PCS       

 3/8” — 16                  100 PCS       

 SERRATED FLANGE  NUTS 

 1/4” — 20                  100 PCS       

 5/16” — 18                100 PCS       

 3/8” — 16                  100 PCS       

FASTENERS 

PHONE: 800-356-5429          PCS FAX:  866-364-9930 


